Enrollment No: Exam Seat No:

C.U. SHAH UNIVERSITY
Winter Examination-2018

Subject Name: Transportation Engineering
Subject Code: 2TEO4TREL Branch: Diploma (Civil)

Semester: 4 Date: 29/10/2018 Time: 10:30 To 01:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Q-1 Attempt the following questions:

a In a proposed alignment, the type of soil which will not be preferred is
(a) Soft rock (b) Ordinary soil (c) Hard rock (d) All are correct

b The rate of rise or fall along a road alignment is known as
(a) Gradient (b) Camber (c) Side slope (d) Super elevation
¢ Camber in the road is provided for
(a) Effective drainage (b) Counteracting the centrifugal force (c) Having
proper sight distance (d) All of the above
d In earthen road, the common stabilizers used are
(@) Cement (b) Bitumen (c) Lime (d) All are correct
e  Aroad sign indicates ‘No parking’ is
(@) Warning sign (b) Prohibitory sign (c) Mandatory sign (d) Informatory sign
f Excessive deformation in foundation course of flexible pavement is known as
(a) Base course failure (b) Wearing course failure (c) Subgrade failure (d)
Pavement failure
g Generally, the rail sections used in India are
(@) Double headed (b) Bull headed (c) Flat footed (d) All are correct
h  The yard where trains and other loads are received, sorted out, trains formed
and dispatched onwards are known as
(a) Station yard (b) Marshaling yard (c) Locomotive yard (d) Goods yard
i When the bridge flooring is provided at the top of the super-structure, it is
called bridge.
(@) Through (b) Deck (c) Semi-through (d) Foot
j Which force is not acting on sub-structure of bridge?
(a) Water pressure (b) Wind load (c) Buoyancy (d) Uplift pressure
k  When the rail end rest on a joint sleeper, the joint is termed as
(a) Supported joint (b) Suspended joint (c) Base joint (d) Welded joint
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In broad gauge clear distance is
(@) 1.767 (b) 1.676 (c) 1.776 (d) 1.667

P.C.U for car is

(@ 0.5 (b) 1.0 ()15 (d) 2.00

The fixed rail in a railway track against which the tongue rail fits is known as
(@) Stock rail (b) Lead rail (c) Wing rail (d) Point rail

Attempt any four questions from Q-2 to Q-8

Attempt all questions

Write the factors affecting the road alignment.

Draw a neat sketch of Bridge and illustrate its component parts.
Attempt all questions

Write the classification of bridge Foundation and explain the deep foundation.

Define gauges. Count different types of factors considered in its type, decision
on its final selection.

Attempt all questions

The speed of the vehicle overtaking the road with a two lane traffic is 70km/ h
and the speed of the slow-moving vehicle is 40km/h. If acceleration is
0.99m/sec?,

(A) Find overtaking site distance.

(B) Minimum length of the overtaking zone.

(A) Show the location of the sign post in the overtaking zone by a clean figure.

Write the types of bearing. Explain the benefits of rocker, roller bearings.
Attempt all questions

Explain the procedure of constructing a water bound Maccadam road.
Discuss various defects for the bridge.

Attempt all questions

Explain the different types of defects arising in flexible pavement.

Write Short note: The Marshalling Yard

Attempt all questions

Explain the use of traffic control tools with neat sketch.

Write a short note on the Railway track maintenance.

Attempt all questions

Explain the ways of water drainage under the roads.

Below are the costs for a bridge in the table, a pier and a super structure span
cost. Super structures costs include flooring and parapet expenditure. Find an
Economical span?

Span (m) 4 8 12 15
Super 1,700 7,000 16,000 24,500
Structure
Costs (Rs)
Substructure | 22,200 23,200 23,000 23,600
Costs (Rs)
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Q-1

Attempt the following questions:

YR 205, AHlotoll YsR B e salml wad o8l
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@A) uellell ecttat (¢ll) uaotoll R () cltauuell (S1) Gatcd oL
AR Aol Bt AYSl WU UR MRM 52 O AR AYSsct sdallad B
) AHEA AYscl (oll) ANVBS AYscl (M) AR AYscL (S1) ABS
UYscl

ols UL RUR UdR B

@) 1.767 (1) 1.676 (1) 1.776 (1) 1.667

s 1w L.y,

@) 0.5 (¢ll) 1.0 (1) 1.5 ($1) 2.00

A 25Ul (Al 2 Boll WA 2oL 2 (32 awa ®

@A) Rs A (o) dls 2 () (Dot 2t (Sl) Wsee 2

Attempt any four questions from Q-2 to Q-8
Attempt all questions

cdloll ASAER (RIS WUR $cdl UR AL R,
ULl syAER Yol wgAERL Aol uR (AlQu uesl galal

Attempt all questions
Yol Ulalle] cals0L 5 wal GLsL Uil AHsiCl.

Aol cautvul AL Aetl YstR alell, Aoll ilAx urieall 20l

(Qulatdl QaReuHl Aatdt (@Y uRwal awual.

Attempt all questions

As GHO[ 2U3s YRtddl Rl UR 3 dR2SdL $2011R cldeto(l 35U 90

.l /scs sla wal Ll auldenon ctgatoll 3su ¥o (5.4l /scus .
%l YaAdl 0.¢¢ m/sec? &lA l,

(W) vlaReslol A2 BdR M.

(o) AaReslol Rlotell AydH doles Ul

(5) 09 BLslA sl RS0l RAlotHl AL Wreo] @Ulet 2l

AZLoLetl YsAA dRUAl. A5, AR AZdletl Alet AHeLA.
Attempt all questions
dlek ollBes A3sH AS alitclloll gl unstal

yd 1ol @QAu widlell uul 2.

Attempt all questions

o1l UG Hl Geatadl (AlQu ystell vl owucl A gsui AxstAl
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gsolld cull: Higlellor auis.
Attempt all questions
2l(zs @aixtel Altelloll clottcll A £250l lallre Guallol UHsA.

AU HRAHA s1RIsH UR gsollul vl
Attempt all questions
2R o{lActl Al FAAsIAl A UM A

o(lA 2ol As YA U2, s U2AR Aal A JUR R5U WUlotall WA
glAd B. YUR wsU WAL $AI0L A VAV WAl AHAA UL
oA 8, doll Ul 55UYScl U 2.

¥Ulet (m) 4 8 12 15

YUR wSUR w3l (Rs) 1,700 7,000 16,000 24,500

UH SUR w3l (Rs) 22,200 23,200 23,000 23,600
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